Chordwise pressure distribution
Airfoil: DU97-W-300, Re = 2.0E6
Solver: OpenFOAM V6, RASModel: RANS kOmegaSSTLM, Ti: 0.1%
AoA=0deg
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Chordwise pressure distribution
Airfoil: DU97-W-300, Re = 2.0E6
Solver: OpenFOAM V6, RASModel: RANS kOmegaSSTLM, Ti: 0.1%
AoA=10deg
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Chordwise pressure distribution
Airfoil: DU97-W-300, Re = 2.0E6
Solver: OpenFOAM V6, RASModel: RANS kOmegaSSTLM, Ti: 0.1%
AoA=15deg
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Chordwise pressure distribution
Airfoil: DU97-W-300, Re = 2.0E6
Solver: OpenFOAM V6, RASModel: RANS kOmegaSSTLM, Ti: 0.1%
AoA=5deg
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Chordwise pressure distribution
Airfoil: DU97-W-300, Re = 2.0E6
Solver: OpenFOAM V6, RASModel: RANS kOmegaSSTLM, Ti: 0.1%
AoA=12.5deg
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Chordwise pressure distribution
Airfoil: DU97-W-300, Re = 2.0E6
Solver: OpenFOAM V6, RASModel: RANS kOmegaSSTLM, Ti: 0.1%
AoA=20deg
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